Understanding Questions

What is the question asking me to do?

1. Read all of the ‘UNDERSTANDING QUESTIONS’ and, in pairs,  fill in the information in the table underneath.

2. Find the VERB in each question that directs you towards your task.

3. Identify the questions that explicitly ask you to use your own words.

4. Identify which questions (if any) require you to refer directly to the passage (i.e. use quotes)

5. Make a note of how many marks are available for each UNDERSTANDING question.

	QUESTION

NUMBER
	VERB USED

TO TELL YOU WHAT TO DO
	USE YOUR OWN WORDS?
	REFER DIRECTLY TO THE PASSAGE WITH QUOTES?
	MARKS AVAILABLE

	1(a)
	
	
	
	

	1 (b)
	Describe 
	
	
	

	2 (a) 
	
	
	
	

	2 (b)
	
	
	
	

	3 (a)
	
	
	
	2

	4 
	
	
	
	

	6
	
	
	
	

	8
	
	
	
	

	9 (a)
	
	yes
	
	

	9 (c) 
	
	
	yes
	

	12
	
	
	
	

	15
	
	
	
	


What is the difference between “identify” and “describe”?

What is the difference between  “describe” and “explain” ? 

Peer Assessment

Task 1: 

Question 1 (b)

By referring to lines 5-12 (“ Brilliant …..on earth”), describe one method scientists used to find the evidence for this discovery.











1 mark

Now that you have worked out an answer yourself, in pairs decide how many of the following are acceptable as an answer to 1 (b)?

One method scientist used to find evidence of this discovery:

1. They used information provided by fossils

2. They studied organic matter preserved in rocks.

3. They counted the objects in space surrounding the earth

4. They employed clever methods of detection.

5. They studied all planets, comets and asteroids close to earth to discover what was likely to happen.

6. They studied fossil fuels to find their evidence.

	Answer
	Mark

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	


Compare your answers with another group.

Peer Assessment

Task 2:

Question 2(a)

Explain, using your own words as far as possible, what is meant by “ the most important driving force behind evolutionary change on the planet” (lines 17-18)






















2 marks

Read the following answers and decide what mark each candidate should be awarded. Be prepared to justify your decision.

	Candidate 1
Comet and asteroid impacts are mainly responsible for the changes that occur within civilisation, and also the changes to the earth.



	Mark:

Reason:




	Candidate 2
The impacts are the impetus which cause plants and animals to adapt and change to suit new conditions.



	Mark:

Reason:




	Candidate 3
When the writer says this he is telling the reader that comet and asteroid impacts could be the main source to have affected the planet and this ultimately has resulted in our generations living in a different way.



	Mark:

Reason:




	Candidate 4
This tells us the importance of comet and asteroid impact on the world and that they are the main source that will change the surroundings and life on the planet.



	Mark:

Reason:




The teacher can now discuss these answers and model an answer on the board/LCD.
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